24Uy

2 Yuipytinhing 12.5dq hup 6000 151900.,0
TYhynptuwy
(qhyn$thwlh bunphnud)
3 75ug 3.0uy upiurl 250 19166,7
bPpniypndbl  opupuly
6 100u] upyuy B 20 196927,5
Uniduunpughti 500uq
8 unydwuwughl - hup 500 28750,0
Uqhppnuhghlt
(wahppnihght
11 nhhhnpuwn)500dq hup 150 63250,0
Phunupnin] (phunypnin 1h
12 dnudlwpun) 2.5Ug hup 1500 40000,0
’ ‘Luninphnuth pinphn 9ughalp
13 250Uy upyuily 5 1650,0
‘Ukipphl
plnnuind.gpuEpuljuiighy
16 wnkp hwwn 300 76000,0
Uwqbh unyun 25%-5,0
17 Uy upyuily 200 7666,7
18 Pkugnpupphuwy 100uUg huip 600 14850,0
Utwnwidhqny (Ukwnwthqnih
19 twinphnud ) 50% 2.0y upyuly 1000 27475,0
21 Uwnnpyuunnunhb 20uq hup 4000 137900,0
Euwpuynhy (Ehwuwphih
22 Uwkwn)10Ug hup 10000 84333,3
24 S8hypn$njuughti 500 Uq hup 300 27600,0
25 8kdwqnihl 1q B 50 Al_()733,3
Udopuhghiht
(wdopuhghthli+ bwwnphnud
)ppunnijubiwpepnt
(Quhnuth
26 pruyntjwbwn)625uqg hwp 100 19655,8
‘Luwnphnuuh pinphn
27 uq/uy,5 Uy upyuly 500 18016,7
30 Ujpklugny 400ug hup 50 9200,0
32 Linpny hpudhlt Ty upjury 100 30666,7
33 Uwnklwny 50Uq hup 500 21722
34 Jukphwih poipud 30.00; J 20 3066,7
37 Uwyuquuinnt Suj uptfuf 200 31280,0
38 Shwtinnpuuntht 0,2g/10} upyuily 100 1686,7
39 Nupwghnudng 120ug/5u) Jpulnl 300 B 147050,0
41 Ppniypndlili 400 ug hup 3000 ]({7800,0 0,0
Uwpnuinwdn] wkpngny
42 10U} Jpulnl 30 48990,0 0,0
Udinnhwhb (wdjnghught
43 pliqhpun)Sug huwp 1500 21375,0
Thyindthwmy
(phyn$Ebwlh bunphnil)
44 75uUq 3.0uy upyuwly 300 20175,0
Phunwpniny (phunwypninih
45 $nudwpuin )5.0uq huwp 5000 45833,3
46 Q1hght: 100uq hup 500 3450,0




